MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	MCAT 2017 Construction of Americans with Disabilities Act (ADA) Compliant Bus Stop Landing Pads, Walkways, Sidewalks, Shelter Pads and Bench Pads Project, Manatee County, FL	DATE POSTED	MC VSE 7/20/17 DS VSE 7/20/17 CC NVA
PURCHASING REPRESENTATIVE	Olga Valcich, Ext 3055	DATE CONTRACT SHALL BE AWARDED	Seven days after posting
DEPARTMENT	Public Works Department, MCAT Division	CONSEQUENCES IF DEFERRED	
SOLICITATION	IFB17-0817OV	AUTHORIZED BY DATE	Melissa Wendel July ,2017

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid 17-0817OV, MCAT 2017 Construction of Americans with Disabilities Act (ADA) Compliant Bus Stop Landing Pads, Walkways, Sidewalks, Shelter Pads and Bench Pads Project, Manatee County, FL, to the lowest, responsive, responsible bidder, Gilliam Construction, LLC, Palmetto, FL 34221 for a total offer of \$834,109,70.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

Manatee County Area Transit Division (MCAT) has requested an Annual Agreement be established on an "as required basis", for the construction of Americans with Disabilities Act (ADA) compliant bus stop landing, pads, walkways, sidewalks, shelter pads and bench pads throughout the various locations of the County in accordance with the specifications, plans, terms and conditions of the Invitation for Bid. The successful Contractor will work with MCAT staff to identify the specific bus stops for improvement. Once the specific bus stop locations are identified, the successful Contractor will construct the concrete ADA regulations pads which will then be fitted with the new, color scheme approved shelters and benches.

This Agreement may not be utilized for any release of work order exceeding a value of \$99,999.99.

The term of this Agreement will be for one (1) year with an option for renewal for two (2) additional years.

Gilliam Construction is a certified DBE Contractor and is certified according to the requirements of DOT 49 C.F. R. Part 26 as a DBE eligible for participation in DOT assisted contracts.

ATTACHMENTS: (List in order as attached)	Department RecommendationTabulation	FUNDING SOURCE (Acct Number & Name)	FTA Acct No.436 900316 563020 9003163 9100 an 436 9008442 563000 9008942 9100		
соѕт	\$300,000.00 / First year of Contract	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	N/A		

INTENT TO AWARD (continued)	Page 2
Page 2	
IFB17-0817OV July 19, 2017	
Formal competitive sealed bid procedures were followed resulting in a a sealed bid for consideration per the attached cost tabulation.	total of seven (7) bidders submitting
The Public works Department, has recommended award to Gilliam Co Responsive, responsible bidder.	onstruction, Palmetto, FL, the lowest.
·\OVALCICH FY16 AND 17\MCAT FY16 AND 17 All Incl POs. Bids. Quotes\IFB17-081	70V ADA COMPL SLARS\Intent to Award

F:\OVALCICH FY16 AND 17\MCAT.FY16 AND 17.All_Incl.POs_Bids_Quotes\IFB17-0817OV.ADA.COMPL.SLABS\Intent to Award July 19. 2017_.docx

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

William P. Steele, Public Works/Transit Division Manager

Date:

7/14/2017

Subject:

Construction of Concrete ADA Boarding Pads, ADA Boarding Pads w/ Shelter Slabs, ADA Boarding Pads w/ Bench Slabs - Recommendation to Award - IFB 17-

0817OV



The bids for the above referenced project have been reviewed by staff. The bid tabulation form is on file for your review and concurrence.

Per the terms of the procurement, <u>award</u> shall be made to the lowest, responsive and responsible Bidder Gilliam Construction Palmetto, FL meeting specifications and having the lowest <u>Total Bid Price</u> for the Work as set forth in this Invitation for Bid (IFB).

Upon completion of project award, please provide a copy of the Purchase Order assigned to the contractor. The funding source for this contract is the Federal Transit Administration (FTA) Account Codes No 436 9003163 563020 9003163 9100 and 436 9008442 563000 9008942 9100. Staff expects to spend approximately \$300,000 in the first year of this contract.

Thank you.

CC: Steven Roberts, Transit Logistics Manager / Public Works Chad Butzow, Deputy Director Field Operations / Public Works

Telham & Stute

Public Wastes
Franch Drymon
2011 Talineast Brad
Saratota, Ft. 3424.1
Pleane manbers (941) 747-8621

2.50	with D	70V- Addendum 1 - MCAT 2017 Construction of Americans isabilities Act (ADA) Compliant Bus Stop Landing Pads, ways, Sidewalks, Shelter Pads and Bench Pads Project		Gilitam Coostruction, LLC 1712 "B" 28th St Ct. E., Palmetto, FL 34221 - (941) 723-8979			Florida Safety Contractors, Inc. PO Box 16628, Tampa, FL 33687 (813) 982-9172			Cartus Bulklers, Inc., 2604 Tampa East Blvd., Ste H, Tampa, FL 33619 (813) 443-4990)			American Constructon Surveys, Inc 719 S. 50th St., Tampa, FL 33619 (813-247-1419)			PLIH Countraction Management Inc. 53/ 23rd St W., Bradenton, FL 34285 (941)7 1216)			
1	102-1	Mobilization - Day Time	40	DAY	\$450.00	s	18,000,00	\$1,250.00	s	50,000.00	\$560.00	\$	22,400.00	\$360,00	s	14,400.00	\$330,00	\$	13,200,00
2	102-1	Mobilization - Night Time	9	DAY	\$675.00	s	6,075.00	\$2,800.00	S	25,200.00	\$840.00	S	7,560.00	\$660.00	S	5,940.00	\$495.00	s	4,455.00
3	102-1	MOT I Lane Closure W/Crew - Day Time	108	Day	\$590.00	s	63,720.00	3950.00	S	102,600.00	\$810,00	s	87,480.00	\$1,560.00	s	168,480.00	\$1,320.00	S	142,560.00
4	102-1	MOT I Lane Closure W/Crew - Night Time	25	DAY	\$885.00	5	22,125.00	\$1,300.00	S	32,500.00	\$1,090.00	\$	27,250.00	\$1,860.00	S	46,500.00	\$1,540.00	S	38,500.00
5	102-1	Flaggers (2)	25	DAY	\$256.00	s	6,400.00	\$380,00	\$	9,500.00	\$424.00	\$	10,600.00	\$714.00	S	17,850.00	\$825.00	5	20,625.00
6	120-1	Cut	1,000	CY	\$5.50	S	5,500.00	\$ 38.00	\$	38,000.00	\$35.00	S	35,000.00	\$9.00	2	9,000.00	\$71.50	S	71,500.00
7	120-6	PU	1,000	CY	\$8.10	s	8,100.00	\$46.00	5	46,000.00	\$25.00	\$	25,000,00	\$15.00	S	15,000.00	\$16.50	5	16,500.00
8	430-174	Pipe Storm Sewer Concrete (RCP 15" or 16")	32	LF	\$82.00	S	2,624.00	\$145.00	2	4,640.00	\$92.38	\$	2,956.16	\$138.00	5	4,416.00	\$165.00	S	5,280.00
9	430-174	Pipe Storm Sewer Concrete (RCP 24" or 30")	32	lf .	\$86.65	2	2,772,80	\$ 250.00	5	8,000.00	\$113,40	5	3,628,80	2180,00	S	5,760.00	\$209,00	\$	6,688.00
10	430-98	Miter End Section (MES 15" or 18")	2	EA	\$1,225.50	s	2,451.00	\$1,600.00	\$	3,200.00	\$1,220.00	\$	2,440.00	\$1,800.00	S	3,600.00	\$1,925.00	\$	3,850,00
11	430-98	Mitter End Section (MES 24° or 30°)	2	EA	\$1,915.10	s	3,830.20	\$72,500.00	\$	5,000.00	\$2,196.00	\$	4,392.00	\$3,000.00	S	6,000.00	\$2,750.00	\$	5,500.00
12	430-99	Miter End Section (MES 30" Bars)	2	EA	\$1,037.50	\$	2,075.00	\$4,450.00	\$	8,900.00	\$2,746.00	\$	5,492.00	\$4,500.00	\$	9,000.00	\$4,125.00	\$	8,250.00
_13	520-2	Curb Type D	702	LF	\$20.50	\$	14,391.00	\$34.00	\$	23,868.00	\$30.00	5	21,060.00	\$30.00	5	21,060.00	\$27.50	\$	19,305.00
14	520-1	Curb Type E	1,000	LF	\$25.50	s	25,500.00	\$42.00	\$	42,000.00	\$30,00	5	30,000.00	\$30.00	\$	30,000.00	\$27.50	\$	27,500.00
15	520-1	Curb Type F	1,000	LF	\$26.75	5	26,750.00	\$42.00	2	42,000.00	\$31.00	S	31,000.00	\$30.00	\$	30,000.00	\$27.50	S	27,500.00
16	522-2	6° Reinforced Concrete	58,346	8F	\$6.88	5	401,420.48	\$8.50	5	495,941.00	\$10.70	\$	624,302.20	\$14.70	\$	857,686.20	\$11.55	S	673,296.30
17	527-2	ADA Transated Done (Detecable Warning)	500	SF	\$27.85	5	13,925.00	\$34,00	\$	17,000.00	\$214.00	S	107,000.00	\$26,40	\$	13,200.00	\$24.20	5	12,100.00
18	515-2	Railing	61	LF	\$82.15	S	5,011.15	\$162.00	5	9,882.00	\$60.00	\$	3,660.00	\$90.00	\$	5,490.00	\$104.50	\$	6,374 50
19	570-1	Bahta Sod	1,427	LF	\$2.41	5	3,439.07	\$5.00	\$	7,135.00	\$9.00	\$	12,843.00	25.40	S	7,705.80	\$4.95	3	7,063.65
20	MC-1	Nighttime Fee for Concrete Plant	25	EA	00.000,82	S	200,000.00	\$1,800.00	5	45,000.00	\$1,590.00	\$	39,750.00	\$2,700	3	67,500.00	\$2,475.00	\$	61,875.00
		TOTAL OFFER (ITEMS 1 THROUGH 20)				5	834,109.70		5	1,016,366.00		S	1,103,814.16		5	1,338,588,00		S	1,172,522.45

Page 1 IFB17-0817OV June 29, 2017 Koyod By Sign V aleit-6 30-17 CHANNEST 1119/17

W	ith Di	OV- Addendum 1 - MCAT 2017 Co isabilities Act (ADA) Compliant Bus ways, Sidewalks, Shelter Pads and B	Stop Landin	g Pads,	Gilliam Cans 1712 "B" 28th St FL 34221 - (1		Florida Safety Cos FO Ben 16628, Tampe 982-91	a, FL 33687 (813)			719 S. 50th St., 7	nction Services, Inc Fampa, FL 33619 47-1419)	K.Fi Goentrusten Maragement Inc. 3 33rd St W., Bradenton, FL 34295 (841 1315)		
			UNIT OF MEASURE	MULTIPLIER	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	
		OVERTIME SURCHARGE SHALL BE AT THE RATE OF:	HOURS	X 40 HOURS	\$35.50	\$1,429.00	\$ 400.00	\$16,000.00	\$76.88	\$3,075.20	\$55.00	\$2,200.00	\$25,00	\$1,000.00	
		ACKNOWLEDGEMENT OF FORMS													
		Addendum No. 1	Yes				Yes		Yer		Yes		Yes		
	, A	Bid Forms (Including Subcontractor Percentage Form)	Yes				Yes		Yes		Yes		Yes		
		Certification of Good Fait Efforts (Utilization of DBE Owned Businesses (DBE)	Yes				Yes		Yes		Yes		Yes		
		Section D, Bidder's Insurance Statement	Yes				Yes		Yes		Yes		No Attachment		
		Section D, Indemnity and Hold Hambers	Yes				Yes		Yes		Yes		No Attachment		
		Section E. Drug Free Work Place Certification	Yes				Yes	4000	Yes			212	No Attachment		
		Section F, Federal Transit Administration Clauses (Article 2 (Bay America Requirements; (Article 7 (Lobbying Requirements); (Article 18 (Government - Wide Debarment and Suspension (Nonprogurement)	Yes .				Yea		Yes		Yes		Parilal Response		
		Attachment A, Bidder's Questionnaire (w/references)	Yes				Yes	3.0	Yer		Yes		Yes	-	
		Attackment B, Public Construction and Environmental Crimes Certification	Yes				Yes		Yes		Yta		Yes		
		Attachment C, The Florida Trench Safety Act	Yes				Yes		Yes		Yes		Yes		
		Attachement E, Vender Certification Regarding Scrutinized Companies List	Yes				Yes		Yes		Yes		Yes		
		Contractor's License	Yes (CGC#(5722107)			***	Yet (CGC 1516846/EC13001 (99)		Yes (CGC 1518176)		Yes (CGC009850)		No Attachment (CGC 036141)		
		Disadvantaged Business Enterprise (DBE) Certificate of Eligibility (Meets the requirements of 49 CFR, Part 26)	Yes				No		Yes		No		No		
													"Highlighted Hems in acc	us have been corrected scordance with IFB17- DE17OV, Article A.04.	
2						0.0									

Page 2 IFB17-0817OV June 29, 2017

Kayed By: Oly & Clair 6-30-17
Tracked By: 119/1

		205 Century Bh	Construction, Inc. rd., Bartow, FL 33830,) 533-7193	9161 131st Pl. N. Suite	720 Inc. D., Largo 91)	, FL (727-288-
FB17-0817OV- Addendum 1 - MCAT 2017 Construction of Americans with Disabilities Act (ADA) Compliant Bus Stop Landing Pads,						
nch Pads Pr	s Project					
40	DAY	\$500.00	\$ 20,000.00	\$814.00	S	32,560.00
9	DAY	\$1,000.00	\$ 9,000.00	\$1,480.00	\$	13,320.00
108	Day	\$1,500.00	\$ 162,000.00	\$3,950.00	5	426,600.00
25	DAY	\$2,250.00	\$ 56,250.00	\$3,675.00	\$	91,875.00
25	DAY	\$540.00	\$ 13,500.00	\$412.00	5	10,300.00
1,000	CY	\$200.00	\$ 200,000.00	\$21.00	\$	21,000.00
1,000	CY	\$200 00	\$ 200,000.00	\$35,52	S	35,520.00
32	LF	\$1,00.00	\$ 3,200.00	\$303.00	\$	9,696.00
32	LF	\$125.00	\$ 4,000.00	\$324.00	S	10,368.00
2	EA	\$500.00	5 1,000.00	\$2,736.00	S	5,472.00
2	EA	\$600.00	\$ 1,200.00	\$3,478.00	5	6,956.00
2	EA	\$1,800.00	\$ 3,600.00	\$4,218.00	\$	8,436.00
702	1.F	\$30.00	\$ 21,060.00	\$21.00	\$	14,742.00
1,000	LF	\$36.50	\$ 36,500.00	\$21.00	5	21,000.00
1,000	LF	\$36.50	\$ 36,500.00	\$21.00	\$	21,000.00
58,346	SF	\$9.00	\$ 525,114.00	\$15.00	S	875,190.00
500	SF	\$400.00	\$ 200,000.00	\$67.00	S	33,500.00
61	LF	\$100.00	\$ 6,100.00	\$259.00	\$	15,799.00
1,427	LF	\$0.35	\$ 499.45	\$4.00	\$	5,708.00
25	EA	\$2,000.00	\$ 50,000.00	\$12,500.00	s	312,500.00
			\$ 1,549,523,45		s	1,971,542.00
				\$ 1,549,523.45	\$ 1,549,523.45	\$ 1,549,523.45 \$

Page 3 !FB17-0817OV June 29, 2017 Keyed By. 19 - Yaluel 6 30-17 Checked By. 2/19/13

with !	170V- Addendum 1 - MCAT 2017 Con Disabilities Act (ADA) Compliant Bus S lkways, Sidewalks, Shelter Pads and Bo	205 Century Blve	ustruction, Inc. L., Bartow, FL 33830, 533–7193	JAM 520 Inc. 9161 131st Pl. N. Suite D., Largo, FL (727-28 2191)			
		Unit of Measure	MULTIPLIER	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	OVERTIME SURCHARGE SHALL BE AT THE RATE OF:	HOURS	X 40 HOURS	\$42.75	\$1,710.00	\$225.00	\$9,000.00
	ACKNOWLEDGEMENT OF FORMS						
	Addendum No. 1	Yes				Yes	
	Bid Forms (Including Subcontractor Percentage Form)	Yes				Yes	
	Certification of Good Fait Efforts (Utilization of DBE Owned Businesses (DBE)	Ycs				Yes	
سنا روا	Section D, Bidder's Insurance Statement	Yes				Yes	
	Section D, Indomnity and Hold Harmless	Yes				Ya	
	Section E, Drug Free Work Place Certification	Yes				Yes	
	Section F, Federal Transit Administration Clauses (Article 2 (Buy America Requirements; (Article 7 (Lobbying Requirements); (Article 18 (Government - Wide Debarment and Suspension (Nonpressurement)	Yes				Yes	
	Attachment A, Bidder's Questionnaire (w/references)	Yes				Yes	
	Attachment B, Public Construction and Environmental Crimes Certification	Yes				Yes	
	Attackment C, The Florida Trench Safety Act	Yes				Yes	
	Attachement E, Vendor Certification Regarding Scrutinized Companies List	Yes				Yes	
	Contractor's License	Yes (CGC040492)		****		Yes (CGC1522881) (CBC1257880)	
	Disadvantaged Business Enterprise (DBE) Certificate of Eligibility (Meets the requirements of 49 CFR, Part 26)	No				No	

Page 4 IFB17-0817OV June 29, 2017 Keyed By. A Sp. - 17 Clark 6 3 P - 17
Thacked By. - 17 1911